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SECTION - 1
=g -1
CHILD DEVELOPMENT AND PEDAGOGY
ar-famre v freroy fatémt

There arc 30 questions in all in this section.
All questions are compulsory.

7= mE 4 %67 30 WA 21
Jt 79 i ¥

1. What is the minimum number of hours of work per weck for teachers in the
Right to Education Act, 2009 ? '
A}y 30 B} 56
€ 45 Dy 70 o o
forert 3 sfenry sifafT=. 2000 T TR % o ufd e <EaT S Tuel ) e
8 7 o '
(A) 30 - (B) 56
Gy 45 o (D) 70
2. Which kind of research is done by the principal ‘of schoal to identify and remove

the causcs of various emeotional probiems of the students ?

(A)  Aclion Rescarch (Bi  Qualitative Rescarch

(C) ﬁistorichl Research  »— (D) Descripiive Rescarch o

; |l fafum dAEE greEnsl & HRUl F

) ufasias wpde= Dy SIS HEYUE
3. Which of the following theorics is related to learning by consequences 2
(A)  Operant conditioning (B)  Insight learning
{C) Classical conditioning (DY Cognitive learning
Frfoifea | & @-a faee s g A § T g 7
() TEENE AR B 3Eef atvH
()  IE EEE 4 Dy GEEEEE dEA
4. When we use our current ‘schema to interpret the external world, it is called
(A)  Assimilation o (B  Association
(C) Adaptation ' (D) Equilibrium
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(A} sty o (B) T
© g - (D) HEeW
5. Which of the following is not a characteristic of projective test ?
(A) 'Ambiguous stirnulus {B} Freedom to respond _
{C}  Subjective pereeption (D) Objective interpretation
Frieias o 4 sF-a midg alison = favwar a6 & o
(A) . FEE FEuwm o (@) eEREaLa] e |
¢ SARHIRE FeET (D) IES e
6. Which of the following is a characteristic ofé gifted leafner_?
(4) ~ He can feel undchtimulaled and bored if the class activilies are nét
“challenging enough
(B)  He gets aggressive and frustraicd - _ : _ ' ‘
(C)  He engages in ritualistic behaviour ]ik;.: hand flapping and rocking ete.
(B} - Heis hlghly temperamental
Frfefiad & § Sm-ar adiger wioamas e @ 3 7
() T FE ) it aﬂﬂﬁﬂ#ﬁgﬂ’raﬁsﬁa Al 9% HH AT NS Al
T S WA
(B) = SEE AN FE @@y A
(C) &% U1 =99eR &dr ¢ 99 9 auyarr, e anfke
(D) FF 9T B T AT E o~ |
7. . Inclusion of children with spcciél needs

(A} is an unréalistic goal

(B} will increase.th'e burden on the schools

Q) | req'ﬁires a change in attitude, content and approach to lcarning

Dy s dctri;ncntal 'L{) children without disabilities

(A) U FEnElEE e A

B) TTEE W AR g I

() mwawﬁrqﬁ%mm ﬁwmqaﬁtwqﬁamwmma‘/
(1) ﬁqﬁawqﬁ.maa’rmﬁw_mﬁzﬁwa%

sosro [NNNNN
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8. Problem solving is not
(A} goal directed
(B)  a skill that can be learmed and practised
{C)  based on lhlc understanding and use of sequential steps
(D} about musical ability
(A) R | |
(B) U IvTeT & A1 Ar@r 51 §ahehy & 39 Foget aneary fear =1 waa &
(C)  WHE SR i TR & W@ 9T ST &
(D) WiE gt dvae & 9] 9 e

9. Thematic Apperception Test {TAT) of measuring personality is a

{A)  subjective technique (Bl obicctive technique
(C)  projective technigue (D} experimental technique
W st g B s

Q) vENMig e E - (D) wETeS T @

10.  Which of the following leads to creativity 7
(A} Emotional t.hihking A— 1B]  Convergent thinking

(C) Divergent thinking . (D} Egoistic thinking
i 1 8 @991 G ®1 K 6 S g 2
&) e o | By Rt e

€} smER e s ) SRR FaT
11.  If the actual a'gc of the child is 13 years and mental age is 14 ycérs, then what

will be the Inteliigence Quotient ?

(A} 11250 B  107-60
(© 11025 . D 10050 |

AR Aot B FEAlaE A 13 @ § @R AEE A 14 a9 8 A ahgefed
Gt |

(A} 112:50 B 10760 <

(€} 11025 o 10050

oss7o [UHHNN [ee) | C pro
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" 12, The 'Classical conditioning theory' of learning was propounded by

(A) Skinner (B) Paviov

(C) “Thorndike (D)) Kohiberg

Ul & Aot semi fagr ufaafea fmar ar
)  REma (B) TG

€) 9FgER A (D) HiEeEE A

13.  Causc of juvenile dehnquency i1s
(A)  parental conflict
(B)  sympathetic behaviour of family members
(C)  working in famﬂy with mutual consent
(D}  wealthy family |
A ST H FHRT &
(a)  A@-Ea 7 mad e . -
(B) &R % WewEl & @y AR g
(C)  URER T H9E w WEG § = 2T 4
(D) "w IER e

4. Which of the following has been ignored in children’s Free and Compulso

Education Righis Act, 2009 ?

(A} Facilitate trainjng of teachers
{13)  Ensuring entry of roaming boys
(C)  Dchning Academic calcnc}cr

(1) Arrangement of cducation after 14 years

aﬁaﬁm%maﬁammmamwaﬁlﬁm 2000 F 9 T T FE W &1

fear g 2
(A} ATERT ST WIWIB Gl e g
C(B)  IE ATETR] o UEYT SRl giAteTd
©) el weret & iR we
(D) 14 =9 & qvEd foreq emEwen
15, Which of the following steps makes research, action research 2
| (A)  Construction of sub-concepts _
(B}  Programme implementation and evaluation
(C}  Generalization

(D} Review of Literature

ess7o  {[ENINNKN v-a
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16.

17.

- 18.

7 o @ FR-W 9 i R sy g )
(A) mﬁwﬁﬁh (B) W @ fmareE ve geriea o
(C) GIFdETT (D) Hileed @1 AR

According to Albert Bandura, four conditions are neccessary in obscwationél
learning. The right sequence of these conditions is

(A}  Motivation — Attention — Retention — Reproduction
(B) Attention — Mouvation — Retention — Reproduction
(C) Attention — Retention — Reproduction — Motivation
(D) Attention — Retention — Motivation — Reproduction
3TeIE % FIEN SwUTeEm R g 9R trF«:F@J’%w SavEEH €1 3
cri"rfit‘w‘e%m’r 1 6 T E |
(A} SFRUT — 3FFEE — YR — e
(B)  3FEUF — SHIUTIN — WO — [AHeEA
() EHFE — YR — JEEEE — SR
(D) A — SR — SN — HAEAET

According to Sigmund Freud, which method is most appropriate for identifving

the characteristics of unconscious mind ?

(A} Case study (B) Dream analysis
(C)  Sociometry technique iD)  Interview

mmmmmmwﬁﬁwﬁmwmwwmﬁ&:
HIA-E 8 7

Ay FfEF-aggs £ (B) @ Teversoy

(C) {HEHE T (D) WK '
A.D.H.D. ﬁleans

(A)  children with speaking difficulty

(B) children with hearing defictency

(C}  children with disorder of attention -~

(D). children with visual impatrment

TELUHEL H o | |

(A) TGE HeE I TS (B)  FAV gaedl A SR
(C) & [FFER A IoF (D) gfeEFar am as

68579 [[EIHRINII) ~ [e66] -A  PTO.
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16.

17.

18.

68579  [[IIHI1II

1 O 9 FH9-91 907 v S e 3HYE 99§ 2

(A)  STFETITST F A (B)  UIUTT T BRATEAA Td geuise -
(C) AT (D) & =hT A&
According to Albert Bandura, four conditions are necessary in observational

learning. The right sequence of these conditions is

{A) Motvation — Attention — Retention — Reproduction
(B) Attention — Monvation — Retention — Reproduction
(C} Attention — Retention — Reproduction — Motivation

(D) Attention — Retention — Motivation — Reproduction

- - —= e e e e e . &
Heeld d UF'Q o 3,.—-«- v e dlcHen  ATEH 'r’x_f"f EPILERC LA IG R WTETIE B =
']ii -z-if]—rf’ﬂ h] Hel &= z

(A)  SFTHOT — FEE — YR — ST

(B) HEYH — TR — ¥ — JHEARA

(C) SIYN — YU — TA575a T — \yjﬁ'{'nn

(D)  HIYU — YR — FT0T — 6067

According to Sigmund Freud. which method is most appropriate for identifving
the characteristics of unconscious mind ?
(A) Case study - (B) Dream analysis
(C}  Sociometry technigue |i_‘:| Interview
TFHUE WS o T HGeT 59 T [GINATA ®i TG S F Jaiges 3946 =i
B AT - = al

dH-dl e /

L~ o~
(A)  HARhE-ET < (B} ST HETET

[l - _ -

(C) [HNEMHE FFa= (D]  WEICER

A.D.H.D. means

(A} children with speaking difficulny

(B) children with hearing deficyency

(C} children with disorder of attention -~
(D). children with visual impairment
TELUAEL F 3§

[ [ r " r = e
(A) dlEeh FSAE I S (B  WAUT ST AT ST

(C) =M [ 3T Jo (D) t:;f-g:'.ﬁhI-*d.' ATl AT

kil -4 PTO.

https://www.pyqgoniine.com



https://www.pyqonline.com/

L 8 . STL-2

19, A test designed to reveal a person's strength or weakness in one or more areas is

called
(A]  Remedial test (B)  Diagnostic test
(C) Achievemcr}t test (D}  Formative test

s e S wARE ) e U o Ao A § Iue favas @ whE w e
T & T SR A, SR

() STERIES e B)  FrmEEE o

(©) 3T uTie (D)  TEEHE W -

20. By which constitutional amendment the 'Right to Education’ was added in the
Constitution of India ?

M

(A)  86th _Amendmém.‘ (B)  74th Amendment &

(C)  89th Amendment (D) 91st Amendment

ﬂﬂﬁ‘lﬂﬂﬁuﬁﬁwﬁwﬁmm Tererr w1 st wfenfers famn w2
By 86 | deE B) 74 A1 G

(C) 89 HelgH D) 91 = denyA

21.  Child centred pedagogy means
(A)  asking the children to follow and imitate the teacher
(B} letting the éh.ildren be totally free
| (C}  giving moral education to the children

(D} giving importance to children's voices and their active participation

ot wiga feraror fafy =1 319 7
(A) Wﬁﬁwwmaﬁ?maﬂﬁﬁ%ﬁm
(B) &edl @i Yol ®9 d @@=l a1 ,
(C) -a=di W Ao e 4 ) | 3
(D) @ iR st s ot el ® wee
22.  Raven Progressive Matrices are used to measure |
(Al Personality | (B)  Learning
(C) Intelligence | (D}  Creativity

oss7o  [HIENVONENY ~ |es6
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23.

24.

25.

26.

o vrafes Afzds = uger % O & el T s g
(A) el B) sy
() d9fs (D) - goTTeseRer —

According to Vygotsky, children learn
(A} by imitation

(B) by interacting with adults and peers

{C}  when rcinforcement is offered

(D] 'by maturation
AR % SIUR aTeTF GEd §

(A) TR

(B) FYEH 3R WHISE F WY WER A A -~
© S T 93 war s 8

() ufueE B |

Which psychologist first created the intelligence test ?

(A)  Wechsler | (B) Binet

(C} Spca-rman - (D)  Cattell _

b IR % g @S gl waor & Fmiv e e o

(A)  HIER @) fa -

(©)  =hEFET (D) e .

What elfort shquld a tcacher make for the uplifiment of Gifted children ? |
(A) élow to teach (B) Special classes and motivation
(C)  Punishing them (D) Ignoring them
@ﬁr%muﬁwwnﬁamﬁmmmmﬁqmmmm ?
(A) TR I € g (B) T wert ° v o
(€) F%TUE (D) 39 W &F FE 2

The aim of adding Art Education in N.C.F.-2005 is
(A} to improve logical re:':lsom'ng

(B) to dcvclop scientific outlook

(C)  to appreciate cultural heritage

(D) (o visit historical sights

sesro [EHNAN
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28.

29,

30.

10
T, aoor;ﬁmﬁ&aﬂsﬁ@ﬁwaéw%
(A e fam o afvgle . ol (B) It gles =
(©) mmﬁm (D) Ofeitas wE = we

Dcvclupmcnt 1S ncver cndmg process thlS idea is assocs

STL-2

(A} Principle of continuity (B) Principle' of int
(C)  Principle of interaction {D) | 'Principlc of inl
s wadl =1 T BRI W §, 9% feR e =
() e @ fagra @ 7 (B) _Wmﬁmi
() A A % faera 9@ D) e F AR R

Which of the following is not a component of intelligence 2

(A)  Logical thinking (B) Vocational chowes
. (C)  Memory ' (D)  Learning {rom cxpemicmces
ferafefge o W wF-a gig w1 TeE T € 2
(A) TR T (B) SHEANGE TE &
€ wEo (D) Sl § HET
Which of the following is not a psycho-motor activity of a chad #
(A} Thinking (B)  Writing
{C) Throwing a ball (D) Playing
Ffefiaa 7 @ g S FE-H URE HANEETE A6 E 2
(A) W ®) femEm oo
() g T o O
Who gave 16 P.F. qucslionnajré to assess pr;:rsonality ?
-[Aj Gordon Allport ' (B) Sheldon
(C) R.B. Cattell (D)  Sprenger
et ] = & for derg dhu, e fe 4 2
(A)  ET aerdE . B). Ieed

© HRH. T D) TR

68579 [IRIENTMELELE 666 |
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31

32.

33.

34.

36.

37.

38.

68579 [T ANHY O

T|ueg - 11
§ET - 1

TE EE I Fo1 30 WA £ |
T U sifaE §

FAEleied 9 ¥ w50 TRaweEr e 4 uge fevEe faes s um d E
(A)  &FF U B) fworize

(€) e (D) HICET AEEd

HIF 95 & AG 2 |

(A)  ITR AW & FGHR T £ |
B) e # gt s e 2
(C) A ] I[EE W e EA R

(D) UEETaT g e e g Seail Al |

() ¥em wmd ' (B) 395 O

(C)  FEE WEd - (D) SIHE FE
HioWlodo T SUMFHAT F 300 F=iwd 5 € T4 8

Ay Tt = s (B)  SUERIOT Wl sATda KT
(C) ERN & TR (D) WE E Y]
Fol i ialaaa o = ms &R w0 o g a2

(A)  WEEE w1 B) I e wr -
() Al D) IeT AT @
i & Wedd: feat FTEE § 7

(A} TH B T

©) dHEoe D) R |

‘T i Ui @) T § o @ ®WIT S oliewing R 8 7
(A)  UF T H EEE e (B) 30T AlET 3ner 927

(€) Tl g EE TEEAey (D) 1 FAT e 96
‘maaﬂw'ﬂ%ﬁi‘ﬁlﬁg' |

(A)  HieTdTEE FE B

B) e B
(C)  F Ml 3 T
(D) AT T T
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39, H TR W A, Wil I SN e gEAI ¥ 1 T ) g Q) e A few v

Sl e 7

A fmEe (B) A FH

(C) €I Ty (D) TEumETEE =y -
40. ‘T W1 WEE &' A9 % STUN W I 1 H GHR §

(A)  GYIEHRS S B fauEgrEE T

) TEEEE (D) HhddE -

Frfeifige Teiv & YR W 9T W 41 § 45 G5 % I AT ¢
M F THEERT A Edlen € T 9§ R TS W g 3K Tlleer] & o
AP FRY IR e A A € 1wl o & ar gea § e g o uw
FLFAA bl ST S W SATIR T ¥ | B &T F I ST Sl &
ofd 51 395 W E 1 R T W A whE @ SR RN SRR 9% a9 % A
T8 Tl ﬂﬁiﬁqﬁﬁ?ﬁﬁhﬁ@%‘qﬁ?wmﬁw%éﬂmﬁmaﬂéﬁl
a1, el O @ ‘S’ I @ g |

(A) e ' (B) 3
© few (D) T
42, " HEFER' Vi O HH-91 IUHT E ?
() I B) &
() 3 (D) ¥
43. Ffelea 4 @ weEeams g e
(A) BT : (B) 3O
© =@ D) T
44, FriciEd A 9 60 T T vl onT gen 7
(a) (B)  elter
© e D) I
45. ‘TSR’ v & 99e-faug g
(A HTF B T 3R fgwR
€ #FHfawr 7 (D) 5 % ZRT feR
65579 [[HIEIMININ
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46, FEIelEd 0 ¥ o e = 32vg AE
(A) ﬂﬂ"%mwa?rm“nﬂ?:‘m - (B)  HUEG A <
(©) Fafe wmors =1 FE = o (D) AT QA T -

a7, 'FhEENE eFevE TN = Tawis | ofinfea &
(A) @1 @ fagE B) TR b fagiE
(C) U9 g w1 EEE (D) HeflT Wshal &7 fagid

48, Fr - weEr T W e T ) |
(A)  FERT AT (B)  STTHIV AEA
(C)  wEEd EEe - (D) & =

49. TF W UoAET F oew R E
() A ' (B) Al
() seAfTEE o (D) =

50. XIS UvH # UFR
(A) IS 599 . - (B) TaveiguIenes v oX
(€ Femuym | (D) AR W L

51, 'Eho a1 s wEE 7 oW € 999 § WG 99’ I [$F AEE0E 2 #5182
) e B) WEETEE G
(c) BeEE-fEENT D) ToETEE faeEu

52. -WWWmWﬁWWEI"WWﬁ?WﬁWW%
() FRE O B
(C) =g (D) Y=II-TYGF .~

53. FEleifaa 1 4 &= 529 3299 & ? '
(A) T H H UF v SR ST Ea E |
(B) %aﬁawrﬂmﬁmﬁ ‘@R aﬁmmmﬁmﬁm

AT E |
{c].,,.@amﬁaﬂﬁqa?mmﬁammaqEWW'm aﬁaﬁﬁaﬁ
Trsener e £ 1
D) 'mﬁ%mﬂmwamﬁ‘tijé
68579 MR | [666] | - PrTO
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54, “ge AR A W SR ARG W THS F @ #E 4T | S B I T
gz, Tafed W weweE 38 T | U ARl § ugw W 9 & Yl &
(A) T, W, waft ~7 (B) FW, U@,

) < 9E, FR, g D) W, foh, T

55, w7 TGS T TR W W 8T w5 A e 1
T a1 it vl @ e el WIS ® Y aaey
(A)  Foeeh, facel, foeelt B) fereh, gvrst, 3w
(C) R, 2T, 9 (D) feeh, forel, Tert
Frpifefiae Taier & YR 9 U99 U&7 56 9 60 doh & W9l & 3T &0

e ey e T, iy U gAR o gEE W 81 8 | 3EeT WU iR 2
fr o1 & 9% S99 & 3evd 9 HOR UNHY w1 A 9 aF A8l 9@l | o
HErd HR Hed 9 SFd 81 A8l | 89 19 ol FROeE ¢ | 89 %9 § %A SN
SHifager 3ufea ot "rd € | 77 give g U @ e H S 981 @ ) Al
W%ﬁﬁﬁﬁ%mﬁwmaﬁwmnuﬁﬂmwmm

56. ‘W @y el T S § HiH-9 HeT g 2
(A)  AEH qdET (B) TureH "ig=q A
(C) U qawe _ D) aEd FEHE A

57, Fr A @ - v gfeer § 2
(A)  TEIGR (B) et
© - o) @

58. TNl % SFTUR ‘URuR’ g 1 3§

A) . fog | B) faenfed
© wUERa s (D) - foriia

59. ‘TG’ Y% & SgaEd §

(A) e (B) THGRE
(C) wagre (D) rFﬂgT-ﬂ@ﬂT

60. ‘3Tud’ vIsg &1 Y &

) e - (B AR
© wE (D) = & foes
oss70  |MENMNEN
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32.

33.

34.

36.

37.

SECTION - II
LANGUAGE - I
ENGLISH
There are 30 guestions in all in this section.
All questions are compulsory.

_ A |
Dr. West’s ‘New Method’ of teaching English emerged to overcome the limitations

of which of the following methods ?

(A) Grammar cum Translaton method

(B] Substitution method

(C) Direct method

(D) Situational method _

In which of the following types of substitution the variables cannot be
interchanged ? | ‘

(A} Simple substitution (B} Compound substitution

(C} Complex substitution (D)  Grammatical substitution
Which of the following is an advantage of Communicative Approach ?

(A) It teaches ways of expression

(B) Itignores grammar and structures of our languages

(C} Its practical utility is yet to be awaited

{D} 1tis not properly and scientifically developed as yet

Which of the foilowing is related to the mental development of the learner ?
(A)  Exposition (B) Imitation '

(C) Characterization (D) | Comprehension

Which of the following is an audio-visual teaching aid ?

(A} Gramophone ' (B) Flannel-board

(C} Television (D) Radio |

Which of the following structures of a question is correct ?

(A) Why didn’t vou told me that ? (B) Why vou didn't tell me that ?
(C) Why didn’t you that el me 2 (D} Why didn’t you tell me that ?

Which of the following structures of a question is correct ?
(A} Will be they arrested if thes refuse to leave ?

(B)  Will they be arrested if they refuse 1o leave ?

(C) Will they be arrested if they refused to leave 7

(D) Will they be arrested of they will refuse to leave ?

08579 [ IIH il | P.T.0.
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39.

40.
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Which of the following passive voice of the given sentence is correel ?
‘All his friends laughed at him.’

(A} He was laughed by all his friends

(B)  Hec was laughed at by all his friends

(C}  He was laugh at by all his friends

(D) He was lalghed at all his friends.

Which of the following words has a diphthong sound ?

(A) Speed (B) Liquid.

(C) Paternal (D) Out

Which of the following words begins with the consonant sound /j/ ?

(A) jealous (B]-. zeal

(C}) vyeast (D) gist

Read the passage and answer the questions that follow :
Prose Passage ( (). Nos. 41-45 ) :

Too much importance must not be attached to the wrong acts done by children,

particularly if they happen to be of minor nature. Many boys and girls at a young age
arc likely to be in the habit of stealing, neglecting their studies, slipping out of their

classcs or using bad language. In nearly every case, the root cause of the trouble is the
lact that proper care of the child is not taken in the house or sufficient interest is not

shown to him. But if the parcnts were wise, they would correci the faults of their

children by paying more attention to them. Whatever the case, one thing should never

be done. Bad things in the children should never be repressed, that is. they should not

be compelled to change for the better under fear of the rod. Physical punishment does

not improve them. It only makes them worse than before.

41.

42.

43.

Which of the {ollowing phrases has a determiner in it ?

(A) Causec of the trouble (B) Change for the betier

(C) Worse than before ' (D) Many boys and girls

-.. the root cause of the trouble is the fact ... ‘is’ in this part of sentence has been
uscd as ' '

(A) main verb _ (B} helping verb

(C)  conjunction - (D) prep{ﬁsition

Which of the following has the three degrees of the adjective in their correct
form ?

(A)  Much, more, most - (B) Many, much, most
(C) Bad, badder, baddest (D) Like, likelier, likeliest

68579 LRI
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44,

46.

43.

49.

50.

S51.

in the habit of stealine. neglecting their studics, slipping out of

classes ... ." Underlined words in this part of sentence are used as

(A) main verbs (B) conjunction
(C) gerunds (D) adjectives

Which of the following has a possessive pronoun in it ?

(A) Bad things in the children (B) Faults of their children
(C} They would cerrect the faults (D) Whatever the case
True or False answer tvpe question is a type of ...... question.

(A)  Essay type (B) Objective type

(C) Descriptive tvpe (D) Short answer type
Unit fest is an expression of ............ evaluation. '

(A) normatve (B) effective

(C) formative (D} conative

FEvaluation is a process of
(A) Ascertaining the quality. valuc of outcomes
(B) Dctcrmining the extent of the achievement of objectives
(C) Comparing the outcomes of instructions
(D) All of these
Which of the following is a disadvantage of Situational Approach ?
(A) It creates interest in teaching
(B) It is action based approach
(C) Text-books cannot be taught by this method
(D) Material aids are used in this approach
The text-books help the teachers in which of the following ways ?
(A) Tt makes the teaching of English systematic
(I3) It checks the teacher from gomng astray
(C) It facilitates self-lcarnimg and self-study
(D) All of these
In which of the following sc@tences is ‘have’ used as main verb ?
(A} T have a shower cvery mesmng '
(13) I have lost the {aith now
(C} I have never been to Dells before
D) @ have admitted my il
https.//www.pygonline.com
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60,
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in which of the following methods of teaching English language ‘Inductive a
Deductive techniques’ of teaching are used ?

(A}  Grammar cum Translation method

(B} Direct method .

(C) Substitution method

(D) Bilingual method

Which commission in 1948 accepted the importance of English language in ¢
curriculum ? |

(A) Dr. Radhakrishnan Commission

(B) The Sccondary Education Commission

(C)  Central Advisory Board of Education

(D) Kothari Education Commission

Who of the following proposed Listening-Speaking-Writing-Reading order
teaching for lcarning English as forcign language ?

(A) E.C. Kitison (B) Robert Paul

(C}  J.A. Bright (D) P. Gurrey

Which of the following approaches aims at teaching English by cstablish
thorough drill and repetition of about 275 graded structures ?

(A)  Structural Approach " (B) Situational Approach

-{C} Bilingual Approach (D) Communicative Approach

Which of the following prefixes can be used to form the opposite of the w

Tegal” ?

() il (B) dis-
(C} un- (D} - im-

Correct one word for “That which never [ails” is

(AY unfailable - (B) in failable

{Cl.  unlallible (D) infallible

Which of the following has a correct structure of a question ?

(_:ﬂ.!- Does Ann has acar ? (B) Does Ann have a car ?
(C}) Have Annacar? (D) Did Ann has a car ?

Which of the following is correct ?

(A) I hope he'll suceced at his work (B) I hope he'll succeed on his work
) 1 hbpc he’ll succeed in his work (D) I hope he'll succeed for his work
Which of the following is correct ?

(A) The old car moved much more faster than the new car

(3} The old car moved morce faster than the new car

(C)  The old car moved much faster than the new car

(D). The old car moved much more fast than the new car

68579 FE NN

https:ﬁwww.pyqonline.com


https://www.pyqonline.com/

STL-2 | | 19 L

gug - ]I
HIET - 1
A
373 T weem: | |
| T WY GEEAT |
31, ‘uEREIgE:’ HW A fEH 7 |

(A) TR (i B)  SERVHARE i
(C) e fafu: D) eI Eh:
32, Toere: &1 W ITARVRE, IRVUSRE e AR o el w7
A) e wder B) - foifiga e
(€)W g (D) amfEE o
33. T dia &Y IReT valq ? o
(A) TETET BTl o (B) R wHunE 9
(©) e e o (D) vt gz =
34. fowvre sl _
() T | (B) BRI
(C) vAmEEY ‘ (D) ¥EITH
35,  YWE: SRR qa | —
(A) WA SEAA | (B)  WINUS ¥R 9
(C) WU ST = (D) YA T 9

36, TEREVER THFT ¥ ARy A SR e fage ek 2
(A) e fagr : (B whraa fagr
) = fggrd (D) wifEs = fggr
suifeiad TafvreRiEE FeteEEa (37 - 42 ) YA FHHEEn —
HFESE YA o] TRl HEvdsdlid | A OEn SRR A
W TR A S T ) AR W SR @l FE el a8l de
FEEl wAE | SEEAA UE s genr sEivr waka 1 a3 ww
VI 3 e, AR 2Y U9 gE-aife: wafd | Seeee o s
e weld |
37, ‘e e o gt 2

(A)  wEE | o
(C} ¥ TEE'H’ (D) g HI ]
g
co=en ¢ o EERREE Fece | o

https://www.pygonline.com


https://www.pyqonline.com/

X
."
s

\ \\ M\
) OO e W ®) wmﬁa

(C) BT, PRI Hfd (D) A HREd i

[l a3 e

44,  HERIATRIINIEN, SRMEUR o qreFad fafafaed —

(A) IR ety B) T fafy:

(C) RARK faf: D) T
45.  SARIETERTEGaE TR Ty —

(A) Wﬂﬂ?{l (B)  HSE:

() HEWEFT | D) FvERfae:
a6, “amRRT: Sw: ffads e —

(A) SR | | (B)  Elo WHHIIET

(C)  WgAYTFTETTET (D) SAREERE
oss7o [N - 666

htps://www.pyqonline.com


https://www.pyqonline.com/

38.

39,

47,

42,

44,

46,

20

aar ¢ fefesn swa: i @ | afer g favisvEafia —

(A) faferr (B)
(C) e (D)

"I ST & W 2

(A) T _ (B)-

(€) - dgsife: | (D)

‘i’ e & ST 7

(A)  BF (B)

(C) 39 (D)

e 3 W U 2

() T (B)

© f | (D)

AT 291 U gE-uite: we )

31 e arerauREiE — S
(A aRE (B)

(C) U4 : (D)

ATFMEATR Hif TafFy 39gaqfia —

(A) ?ﬂr_'ﬂ?_[_a?%ﬁ ot (B)

(C)  HWTHR e uid (D)

ST

FTAIRSE Ui
FTaaE FAived uia

HEFH ARV, geHven 1 yrdiaan; Eufaay —

(A)  FEFEE by (B)
(C) WY faf (D)
AR Mg T HeR g TR i —
(A) BT 3)
(C) HEWFT (D)

‘gl 3 fefadrsRa —

e

(A)  AFErTEE | (B)
(C}  HgHYIATLY] e | (D)

ess7o WU -

.. https://www.pyqgonline.com

oot fafa:

LSE] Tegte:

T
éﬁaﬁat' .

glo gurReTifemn

SR EITSRET

STL-


https://www.pyqonline.com/

STL-2 21
47,  HeHYl e #A ERTEay 2

(a) o GATTEIEG FEE B) R wEEd

©) o foremazenis wEEE ) s wE
48.  SECSIERRA: ® AR RO T 7 B
(A Yo BYYET R (B) o wlr sar:
() o gmER B (D) .ﬁogﬂmﬁm
49. ‘U e U U G ¥R T S AR —
(A) 3 Fore 9 EhEsTE B) 3% Ferr o dfgenfy
(C) & e U forery _ -(D] 318 shed I ferarfa
50. T GNEE g TEI HE A A w sersid —
(A) 79U 2fEE T ET (B) T AE T e
() T fem BE s (D)  FUrE gREE g
51, =EElTE deivEE - whEnT SRR O | |
(A) a?f%maﬂ%w g (B) @A FHcRRT g |
(C) HiaY FoRE: FB: | (D) o R S T
52.  Remes wWigen g 95=8d —
.............. HiTseT= T8 F FETad —
(A)  STEH: B)  HAEAT
CE ik N R i
=s'; Y-S YT IST A wiEed: Jid 2
| (A) ORTEUT fan: (B)  wARR faf:
() g fafa: (D) ey faf
54, UNRUHRTE 3 FEE TR S 7
(4) T FEE (B HER wE
e . . (DI TEA FEE

https://www.pygonline.com



https://www.pyqonline.com/

- 56.

-4 22

siferfiad mariet afsen freREaT: ( 55 - 60 ) T GHRAL —

- Twenfest wen o weveEn RRfwdest w smmsfm o e
WWWWWWWWIWW
ASHAAOT W F e Jemife: e | owE: Sem ady
T QA | ISR FAE: (I TR A add |

55.  TmivEL: feeRradesn @ s | Yaige TR semen uRterdeg —
(A) T (B) st
() FTET (D) W@‘ﬁ
G SR JH o sfaergl wat | wRem we ek
Freigd wegvgey —
(a) TEq (B} &
(C) = (D) ki
. 57, HeTiHiaue: - 3oas v fae — '
(a) B) WY
(C) dreer Oy T
58. S ufmm W AR | vaitgans faieed —
AR | B W
(© wed (D) T
59. ‘vl weE Remwe add — |
() foeE ' (B) ol
© fafem G
60. A S W R A —
() T TR | (B) g #ER
(C) TE AR D) TR

08579 IR0 ro-a

https://www.pygonline.com


https://www.pyqonline.com/

831
L
il
=1

S lizd_(60 531 )= tis

ES

o &.u." (D) v':;l;v’f};

_g,JLI-JC-I
.-J'EJEZ-J‘; J’bjh-::l

- ra
J_","k f'c,: -t

25k

23 [V-4&

i " —h
[ -/

Y|

~

-,:ﬂ'
P & el (30) Ut (e _

-

'xl:‘-;{_i/.__;lﬁgn_,gc:_ufu:‘"‘flgf_ rFr_/:..u:?
C*_-thffd.u A ) r “:;’I..J‘r!

©  sAAs (B uf,,f-‘u%;" (A)

=y

:_.'_Jr:.g YT Y

(B) 23l (A)

(D) 25 by (C)

f:'_.l:LH;B/,d/b,..w:b;-_;f-f’:d_v; 4

(B) LN

(D) 34287 (0

--..u-wf{ Jxlnfd/u-,r.».uJ) ﬁﬁj‘f’ff:'.- y

AT

jjd;lj.-'j

’ . "
o Pk S Fi

—ar

BIEN S0

(B) AL (A)
(D)

:“l_l
t
3

= .

d:L:J:’I,vij&_. ok d U F

(B) e Yl (A
(D) v ()
e (I U1 EUs s S

(B) & (A)
(D) & (C)

{B) 1 (A
Dj s (C)

https://www.pyqonline.com

-]

.31

32

34

.36


https://www.pyqonline.com/

L 24 STL-2

. P . = , &
_q;prﬁgul-ui’&.ﬁfﬁaddﬁu/

= ) Je )
d/:;f (D) Sl (C)
U?%ff’——"d‘gufis’r{;g?

B FA)
A D) K (C)
‘Eﬂ(é“‘i“)dﬁf Lol

F B CT(A)

' (D) - ©

. é*-...atf'?z_(_(45 t‘41) HJFFZL‘LJﬂi/&-z"‘.I #L-*”[_}' PI-g)

Seinos B LI P P eirns ER S RTT VARE IOV Ay BB R Iy I
fitia o 2B st Sy Fita i ot et LS Sa s Cee el
AN e A T e 1 g ot B e S Sl U s b5
bt et E S S oo iy e dede LS S us et

- o UL UE Bt ~Jw1 U

¢ B w"f._,{ #

LA?  (B) AL (A)
Az (D) LAl (C)
¢ a_ﬁf}j;'gﬁ
& @ o
& D) S (C)
e 2K TP
—hd (B) G (A)
Urs (D) A% (C)
¢ Lez?g,fb\-_,lbf“&iﬂ*ﬂl‘
St L Sords (B sieds” A

J;-':Fli-d/u‘f (D) sseds”
579 | [N 666

https.//www.pygonline.com

38

.39

40

41

42

43

44


https://www.pyqonline.com/

https://www.pygonline.com

STL-2 25 N
..d:...i#,xfwuu:_.w_,,-,w 45
Ui 1 2% (B) G o ()
flar : 229 (D) BNEWIA (C)
A a1 JE1 iz A L,leu"myd’,u. 46
B84 (D) 2871 (C) =2l f o (B) -‘-2/’& (Al
,;.L.r;l,.,}!,._, At b!/“"l 47
ety (B) —edus et )
et (D) R (¢
B i i8S oS a8
Sk AE (B) il ()
RSP A ()
..,_,:',_,.v' {u_abnramnes]w(./c._.Vr_.w’ﬂ J/Jimfd' 49
B2 LEe (B @l )
Sext (D) A btk (C)
¢ ;;_._,r“aprf;}w‘%"’?@}"{ww%‘ 50
(Thorndike) {12AZ  (A)
(Herbart) L.zr (B)
(Miss. Helen Parkhurst) e S LeH0” (O
(Montessori) $.»¥ (D)
Ll w S LGH 51
~% (B M (A)
s (D) sl (C)
< txflg vy’ .52
A2 (B (A
2. (D) =il (C)
USSP 53
23 (D) e = (B) Je(A)


https://www.pyqonline.com/

STL-2 27

=qug - 11
HIET - 11

¥ 3 0 Fel 30 A ¢ |
W“W:raﬂ:{am" TE

61. ummnwww;*?z}ﬁﬁm%?mnﬁ%’agw%
(A)  HATA (B) 3T
(€ o (D) 3T
62. WISIRAF T 97 [0 £
(A)  TawrE . (B) TS
() 3 D) ¥
63. H=eRad § 9 =7 3umw &
(A) R B) =R
(C) U D)  HEfEE
64. TS qleT § ginET &
(A) - P o B) T ug ey
(C) T e (D) S

65. [FAMT % TGN YegiEA ¥ ITEw wher ugh
(A) T U A TeEE UgE (B) WA gl wehy
© @l e veh D) HitEs Wen ugh

66. HElegd o W s = T E

(C) HIWH A ¥ 3 9T T | Fus WEE mﬁﬁwwnqswgl
(D) % e g STEEE = g B FH GYEEF T § |
67. @E | Tohaml g1 :,_;fq%f - ma;qﬁ‘qyg

(A) U By e
€) - TRy D) ¥FEEE
68. "I faBET WeEY T e ¥
(A)  UITEE WEE FET @B 3 Uy E
SR Dy FIAF®ETT

https://www.pyqonline.com


https://www.pyqonline.com/

L 28 STL-2
69. 'WeH Tl LA, ST A "el elsiE o g §
(A)  HE R HE gE (B} TE{ W aW TgAT
(C) THIUFE TN B (D) T femmEn
70. T F AR w v T g o v oty s b
(A) Al T (B)  UE TR
(C) =l TE (D) =l A e
71, U-YR TRE smeRiE w5 v ¥
Ay T B) -t
€ favmo (D) FETH -
Wﬁaﬁw%wwmwm@mﬁaﬁ;mm
: mmmm%ﬁwwa@mmmwmmwm
i & A E Wmﬁrﬁﬁﬁm%ﬂwmmw |
WHIFA: ST ¥ 9 IR HAT ¥, W] WA WA ¥ frev 3eden § oy fard
wﬁm%mmmuﬁmmﬁwm*ﬁwmmmwm
Wﬁw%mﬂﬂnmaﬁraﬁmmmﬁﬁmwwmamm
.Elqﬁmﬁﬁﬁwawamﬁé;waﬁﬁq g % wE BYEE @R fma & wne
TR B AT |
72. WA G e vm g
Ay HTH (By HH
© Frx ) W
73, Heww' v & du-fomg g
(A) T AR (B) T+ EWF
€ T AT (D) T+ ERF
74. 71 A @ we-a foweq wiferes 9§ WeEEs g9 g @1 8 )
(A) YT B) I
() Il (D) T
75, are'aﬁﬁwﬁﬁwm A F EitE T E
(A} ST (B) |WIH
) fEm Dy faemsr
76. ﬁtﬁ%‘ﬁ@ﬁﬁﬁmmwsﬂammﬁ%?
(n) Fefer B awa
) T (o) femEE
68579 {[RIIANI

https://www.pyqonline.com


https://www.pyqonline.com/

STL-2 29 ' L

77. ﬁf{ﬁﬂﬂﬁm%aﬁf
(A} IUF SER Twd = ITER T mE e
(B) 3IYF IR 799 ¥ ITEE FA AAE |
(C) 3I9F uiwn W wfewE T wET
(D) IGF URUTE T 30 = FEE
78, WA EE F fAeiTE v S = g A b o
(A) BT B) FT
(C) e D) 9
79. Eel fah w1 vafes w7 =7 87 2
(A)  THGS FH (B)  HRRFT T
(C)  4TH UHoTHF =1 (D} FRI FETAA FF F
80. ‘H #em § faama fma 8 8 v w7 gw
(A)  FT FNE B} HEdY FRF
{C}  FILEHRF (D) 3TYEH HREFR
81. =R (W80 % forw womet =7 oA w9 A g wonett’ o sed 2
(A} STATFHA HoTe (8] HEYNT HOTEAT
(C) TGRS JTEA (D) T ToTE
82, 'BWICNEd’ VI § FH-91 SHF £ 2
(A)  HYEY B =g
(C)  FrEEEE oy f57
83. RO fee uglE B wmw Teeonia v @ e
(A T w TEE (B Ehhe vE
(©) @R I
84. Tifas sifi=alt #1 2aa § wEEs £
(A} T ® =E-faar
() Faey m =
85. Sl % emifue &7 5 wgwm @i @ wEd o9 E@a ¢
(A)  qETH | ® [T
(€} uRar ) FER e
o579 (RN =3 ~ ero
4

https://www.pyqgonline.com


https://www.pyqonline.com/

ﬁ = E——
T e
. =)

Los= 1 - S -_;_‘ _-'_]‘ -e'
.. {-': (7= #F'}-—,.WE_;‘,}I‘ = 1_/- =TT /;[)?;{.{_;Jf ) Jq'?
Gy, A ’
TEENL e, b < < \-__,E'*:}-‘-.sa.x i .
= g ) T“: _.___\_‘ SN .\::;\:.;:;?fh .-
() T LA EEI A
S (A =

- .~ e e -
() ToasrTad Y SwarTEien T EEH HIA
() mreEem wieT Ty Siae 96T 3wt qaTeId @) [FETE Al
.

() - fEeE EEAt H gACrET 1 AR Sl
Cqefeas Taie & ST U U9 9% 87 W 90 o & IR LI

B 'i;_g,n| d"{im T E}'i ﬁ-ﬂ{qq; =R qTfi\f[’

TRl § THTER
el WA g2 A
U] iG] o A H
A e, I A e,
g AT T @
SR Tt = i
o @gAl I qH AT

T I ‘113314'-_1?4@_
A HER] B ST H |

87, I Al 1 S W 8
(A) AT O (B) w9 UH
(C) GHEER (D) A

g5, ‘T WA & w A, e R #) A U U H A e € 2
(A) T (B) I
C) HEE (D) Yo |
g0, T SEen % ded H, sl T, SgE g el i § w-gaen [ we T

.

2
(A} VAT ! (B) WA @ SERI &
() = YiEd TEnl H (D) G % g B
90, FE A T UE
(a) @ B T
(€) wEH o) T

el |

68579 (1l

¢ https://www.pygonline.com



https://www.pyqonline.com/

STL-2 31

bl.

62.

SECTION - III
LANGUAGE - II
ENGLISH
There are 20 questions in all in this section.

Al questions are compulsory.

Remedial classes play an mmportant role for

(A) socicty (B} bright students
(C) disabled ones (D) intelligent ones
An imlportant feature of an adequate evaluation is

(A) it is irrcsponsible (B) itis diagnostic

(C] it enhances learnming (D} it harasses students

( Q. Nos. 63-65 ) :

- 63.

64.

66.

“The wind lies asleep i the arms of the dawn

Like a child that has cried all night.”

The sécond line is an example of

(A) Simile {B) Metaphor

(C) Personification (D) Alliteration
‘Mctaphor’ is defined as

(A) far fetched simile (B) implied simile
{C}_ covert simile (D) explicit simile
..................... 1s an example ¢f personification in the above iines..
{A) Wind (B) Child

{C) Night ‘ (D) That
Blaﬁk_vcrsc 1s iambic peniameter

(A) without rhyvme

(B) with rhyme

(C) :..a.rith alternate rhyrmme

(D)  without alternate rhwmae

68579 | [l AL I [e66]
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68.

69.

70.

71.

72.

73.

74.

32

‘O wild west wind, thou breath of Autumn’s being.’
The above line contains

(A) Personification and alliteration

(B) Simile and alliteration

(C)  Personification and similc

(D)  Metaphor and personification

“An clegy’ is

(A)  a joylul lyric
(B) a poem on death of somecone dear

(C) a sonnet on nature

(D) a marriage song

The speaker / narrator in the Pastoral clegy is

(A)  a musician (B) a shepherd

(C) a painter ' (D) a sculptor
e is the rhyme scheme of the English sonnet.

(A) abab, cdced, cfef, gg . (B) abab, abab, abc, cde
(C) abc, abe, def, def, gg -{D] abede, abede, efef

The drama that developed from religious rituals was

(A) Classical drama . (B) Elizabethan drama -

(C} Mediceval drama {D) Meclodrama
/'beri/ is the correct transcription of

(A) -bcri_ (B) berry

(C} bury . (D) beary

‘Exist’ is transcribed as

(A}Y  /egjhist : (B) /cgziest/
(C) [egzist/ (D) [Jlgzist/
The correct transcription of ‘virtue’ is _
(A) /warchu:/ (B) /va:tfu:/
(C) Jvortfu:/ (D) Jws:tfu:/
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79.

80.

81.

‘Adjust’ is transcribed as

(A)  /S'hast/ . (B) /ad[ust/

. (©) /adjust/ | (D) / asast

Velar' is the sound formed by

(A)  the front of the tongue and the hard palate

(B) the lower lip and the upper teeth

(C) the blade of the tongue and teeth ridge

(D} the back of the tongue and the soft palate

Sounds ‘7, &, 0’, v’ etc. are

(A)  semi-vowels (B) lateral

(C) [ricatives (D) nasals.

Which of the following plavs the basic role in learning a mother tongue ?

(A) Motivation (B} Naturalness

(C) Habit formation ' (D) Purpose

..................... is one of the chief characteristics of Communicative Approach.

(A} Examples arc given to make the things clear

(B) = It does not need trained teachers ‘ |

(C) Learner learns the target language as mother ton-gm:

(D} Textbook plays an important role

Linguistic variability or multiingualism is a ................ to acquire the knowledge
of a forcign language.

(A)  boon (B} hardship

(C] tool . (D} ladder

The basic remedial English may cover

(A)  vocabulary (B) reading comprehension

(C)  both (A) and (B) (D) none of these

................. 1 was no better than a dead man, | was alive and was able to reach
the shore.

(A)  Though . B) If

(C) Yet . (D} Moreover

68579 | [ITRKENL [6e6] P.T.0.

‘ -
https://www.pygonline.com


https://www.pyqonline.com/

[_T_] " 34 STL-

83. Measles ... an infectious discase.
(A) are _ ' (B) is
(C)  will (I3)  have
84. My fricnd and his father ........... mecting us tomorrow.
(A} arc (B) is
(C)  will (D)  have
85. The fisherman cast his net for two whole days but ........... .. nol get a good lot.
(A) can (B)  might
(C} could (D) may
86.  Ravi’s uncle guided him how he ..............___ attempt his test.
(A) can (B) should
(C) may (D) will

87. ‘Flying in the face of means
(A)  respect - (B) pray
(C) reward _ (D) insult
88. ‘By fits and starts’ means
(A) not fit to start - (B) good omen
(C) not regular (D) speedily
( Q. Nos. 39-90 ) : Read the following passage and answer the questions :
‘Watching television for a- long time could lower academic performance. It ‘steals’ away
the reading time. Time management is about selfﬁisciplinc. Time must be managed

between filled and unfilled time.?

89. may bc an appropriate title for the given extract.
(A) Discipline (B) Seclf-respect )
(C}  Time-management (D} Television

‘His father never starved, but he couldn'’t cast any doubt on the story. So he had

to make an effort to hold his tongue.’
90.  The linking devices used in the above extract belong to
(A) concession and contrast (B) opinion and purposc

{C) condition and adding ideas (D)  contrast and conscquence

68579 | [HINHIMIENY
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qre - III
HTET - 11
g
A ﬁﬁﬁﬂw A< |
| UT: WEAT |

61. SIA TSGH H F T T BT L |

A AT P FER: wiastg — _

(A) SEET: TEETE v UREt | Br 9% g3Ed I yREh |

(C) CFET: IS uE 99EiT | (D) SEEH: gEET U uRad |
62. HIE: TS B FEE G arequiiadd sty —

(A) oI T wEE ) (B) Wgﬁ?ﬁ%ﬁfr

(C) oy G 9399 | - (D) ST QREes usf |
63.. HWH: HEH suEwiE it dyivag —

(A) TN EARETSE | (B) G TS |

(C) A& I fasfa (D) WSWW !
64. e ugefed mg Wl M |

s R W Qiaear ofs daisms —

(A) = B T 7

(€) = (D) ||
65. T B TeaRvTEH faed —

() e (B) 8

(C) T v (D) T e,
66.  AFHEM] WM WFHdueT 907 fergd —

e UM (4:15) oo arA ety —

AR TR wAE (B} WY =l

(C) | FFare (D) 9EH TSTEEd
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67, UhTA TR T IO A1 weeE e el =T I HT Ry 7

(A) RO 9E - \ (B)  Feruems qdier
(C) TS aliem (D) e oder

68. EAM WA N T W wweny R e Heiend 3unn ?

| (A) TS FRTEE e ' (B) WW"{’

(C) YT HITTR (D) & BRI

69.  STCITIE Fery Trgana fe arfle o
(A) E‘ﬁ?ﬁ”‘T a1 (B) WU gy
(C) =R T (D) YOG

70, SRR FEFET W SR A S s [ I T 7
(A) R | B) e -

(C) SR (D) SEEYXE,
71, RISOTEAY wEen gned TR J&@ Fa m’ﬁfmqt{" I T FererorEre=
frgeEr 7
() I e g o7 (B)  QUIEy uiq
(C) TeveloTe Gyewoi oy | (D)  FAREH ufa
72, SEOINUI-UEA-FRIOTA qeaiE Far e = v
(A) TEHEE g (B)  HifEes uder
(C) &rafE aleEr (D)  TAREg gdlern

HAGNATGTH 31t voiep smuriisre Frfefigar: (73 - 78 ) US4l {HEET: —
MBI e R E T e T e
ST FEREIART SR |

8l Teprr it = zefiar ||
73.  HgOHT 39T Wi ? ‘
/i«f{)- jid By 9 -
VA (S i PN - o) e

¥

oo AN |
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74. ‘AT T@T 5 W@ 2
(A) I O~
(C} T=Aq

75.  Yeliehs R wgwE g<a: = g 2
(A) T
(C) aR=lde

76. - ‘TRREAH 395 ST T —
(A) TR =g

foere 5=

77.  YAHSRE F FoER: g 0
(A) s
€ I

78.  WRHEEY ¥ 9 % foar —
A) TEHSEH
C) WEFEH

(B)
D)

(B)
(D)

(B)
(D)

(B)
(D)

B)
(D)

feTior Fg”

, BUF

EEEH

ATEFA
UTHE A ~

Fiicifaay smior Taw smeTtged el (79 - 84 ) wen: w=En: —
ngﬁﬁwﬁwﬁwwirmrwﬁﬁﬁmﬂﬁwwmmmﬁaﬁmmmﬁﬁ-

ERECIE EC il

ot T g ulresire sepniear @ sk | o wue U e e
TR AIerhee Me=Rers: 7% wo5aid 951 an: gifaan: = |

79, ‘HIQYh: I W A 7

() ot (8)
(C) W« (D)
80, 'UWHld' IR UE WHEN O WRRIRT —
C(A) WA (B)
(C) W, (D)
81. ‘TRE:’ IR W &% w2
(A) o ERE (B
(© e wF " ©)
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83.

84.

85.

86.

87.

89.

90.

38
TR $0alee o e s —
W (B)
€ <A (D)
TEEeH!: " T WA ST —
@ = (B)
(C)  dceH: (D)
AR $HE S Aoy sfasfy -
(A)  WH + AR~ (B)
(C) ¥+ HE]G (D)
T § R w2
(A TR (B)
(€) A (D)
IISYRIEYERAY WREvH §E: ARk —
A 9 (B)
(© =T (D)
TEFATHTSIRTEORY yoH Qi el —
(A)  YTRSUTYT IS0 o W9 (B)
(C)  HEHTIRHHTH (D)
A TR T
(C)  IUSIET (D)

"mwawm:ﬂmmmwﬂﬁamﬁm
FierreA” 3fa s fak: o el 2

(A) Wfﬂa — (B)
(C) T ferel: (D)

STL-2

A1 + Al

weey e
yyIaT o

“E m’m@zﬁmmﬁqmwﬁm&rﬁmﬁﬁmwﬁﬂnmma

ST g S URETeaiageT e 2

(A) fu=ae meleaT (B)
C TEOA WEH (D)
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S S

BEE 3o U TAER_AT
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_ _ SECTION - IV / @Ug - [V
In this Section, there arc 2 sub-sections ie. IV(a) Mathematics and Science and

IV(b} Social Studies. Both the sub-sections consist of 60 Multiple choice Questions
cach.

The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social
Studies as sclected in the Online Application Form and answer all the 60 questions.

snwsﬁa%mvéamhma}ﬁﬁmﬁam@‘mmmﬁmW%:ﬁ

SEvE % T 1§ 60 Tl e E ) L |
qﬁwﬁﬁmam&mmﬁmmmmmﬁmw,ﬁwwaﬁw
aﬂaaq-qaf'ﬁfam%,ﬁﬁhﬁwmﬁm%@mﬁeomwwﬁ%t |

SECTION - [V(a) / &S - [V(a)
MATHEMATICS & SCIENCE / TIVTH 99T fasm

There are.60 questions in all in this section. The candidates who have selected this
subject must answer all the questions.

€ WUE W B 60 WA £ T swaiam 3 3w fawy o wad B ¥ 3w we e
3Tem & |
91.  Under Swachh Bharat Mission 20 volunteers c¢an clean their village in 8 days.

If 'village needs to be cleaned in 5 days, then how many volunteers will be
required ? _

(A) 20 (B) 32
(C) 15 (D) 30 . »

-~
il

E® U AWEE ¥ T 20 TR A N6 %) 8 KA ¥ wew s aed ¥
- = -r- - ‘|i'_-_r-_---:-__---:---‘."r . N . . 5 M

T 1 5157 5 =3 =43 &, 9 o WHgas! %l Savasal e ?

(A) 20 B 32

© 15 D) 30

92. Partha moves from Jhunihunu to Jodhpur by car to reach in 6 hours with an
average speed of 60 km, hour. What will be average speed while returning, if it

takes 4% hours ?

(A) 80 km/hour {B8) 70 km/hour
(C) 90 km/hour iDY 60 km/hour

Wiwmﬁ#ﬁmﬁ?mﬁmﬁmwﬁaﬁﬁ@m%w
ﬁmﬁwwﬁa’—m%ﬂwﬁgﬁa&ﬁ%aﬂ%aﬁ? '

Mo- fopelt/moer B 70 HH/Hue

(C) 90 TrHl/Huer M 60 =H/gve
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Three years back, the population of a village was S0000. After that, in the {irs
ycar the rate of growth of population was 5%. In the second vear, due o
epidemic, the population decreased by 10% and in the third yvear, the populatios
growth rate was noticed to be by 4%. The present population of the village 1s

(A) 50000 (B] 53000
(C) 49140 (D) 51140 ' !.

U Y s STEEN a9 a9 W 50000 911 3EF UvEE TEe aY 5 weEe
5% 1 dgINT g31 T o9 H TEERT & SN A 10% HE TE a4l daray =%

e n o on . . A . ) . NEEY
Heldl 61 €T 4% 915 T3 | e R IdH- FIJd=1 8

(A) 50000 (B) 53000

(e 49140 D) 51140

In given figure if p || g then the value of x1s

P
q a
- \X"
d ) > 5
30 X

(A) 55° (B)  95°

€ 65° (D) 105°

frmafEap||lg @ xHAAE

(A 35 (B) 95°

(C) 65" D}  105°

o579 |FNEIALIN
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95. Itis given that AABC = AFDE and AB= 5 cm, £B=40° and £A = 80°. Which apes
| at o : g US> |
of the following is truc 2

(A) DF=5cm; JF=260° (B} DF=5cm; ZE = 60°

(C) DE=5cm,; /E=60° (D) DE=5cm; ZD= 40°

fear & i AABC = AFDE 791 AB =5 WHl, Z/B = 40° 9 <A = 80°, MHfcii@d i @) -
$I-9l Fel & 7

(A) DF=35¥H; /F=60° (B) DF=54dH; LE=60°

(C) DE=5499; LE=50° (D) ~ DE=53¥; /D= 40"

96. The main.drawback of objective testing is
(A} lack of comprehensiveness (B) lack of credibility
(C) lack of expression (D) lack of validity

e \{;”E [].{.Eﬂ_”? ER A2 ‘:._ S g

(A) AT T FETE B) Fraadrer s sa

(C) qaERE # FEE_7 (D) SYa 1 AYE

97. Which qualities are accurate in the examination ?

(A) Discrimination (B) - Valdity

(C)  Objectivity (D) Reliability
fehar 1T % SHROT GO T IEAT @A € 2

) favemieEr (B) g

(C) TS (D) TersagEar -

98. The main aim of exercise drill work in mathematics teaching is
(A) to understand new formula
(B}  to enhance computation skill
(C)  to clear the new concept
(D)  to utilise the knowledge in new circumstances

T feredoT 6 s wE w UEE 3G R

(A) - T GF S GEST B) TR g et sgE

(C) 7 URT W W . (D) 7F & A4 aRf@&T § @np s
99. Inductive method is suitable

(A) for establishing the formula 27—

(B)  to solve the problem through formula A
(C)  to scarch the solution of problem

(D) to understand the solution of problem -

68579 | HIENTHINI PT.O.
¢
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s fafe 3uge & |
(A) T T & e B) T BRI 9T &1 FH * oAU
(©) Wﬁf@ﬁ@ﬁﬁ%%ﬁ-km THET T &1 I THIA & folu "

Important characteristic(s) of Textbook of Mathematics is/are
{A) Subject matter (B) Language and style
(C) Form of Textbook (D) All of these
T B IEAE! @ Hecayu! Retwan(E) 28
(A) TEUEE] - (B)  WIST U& Sl oo
(C) T&iH Bt aﬂqﬂ%r (D) FTHA mﬁ
101. Chemical formula of alummlum sulphate is '
(A) ALSO, (B)  Aly(SO,),
(C) Al (SO,), (D)  AlSO,),
TAfAan gethe o7 TS O 8 .
A)  Al;SO, - (B) Al4(SO,), -2
(C)  AL(SO,), (D) Al(SO,),
102. The metal having lowest melting point among the following is
(A)  gallium (B) bismuth
(C) antimony (D) arsenic -
fraferfad & & 9o) &0 Tere g 9ig @
@A) Tierad | B)  fawm
€ W - B (D) S
103. Colour of phenolphthalein indicator in alkaline medium is
(A)  white . - (B pink
(C) yellow i : - {D} light green
s e & tﬁ"’rmm&%q qa?ﬁ w1 Ay
A) T¥E | (B) eI
(C) Uem ' (D) BRI ET
104 Which of following synthetic Hbrc-s 15 a poivmer of cthylene glycol and
terephthalic acid ? :
(A) Arlon - ' - - (B) DPacron
(C) Nylon . ) 1D) Rayon -
68579 | [L/RN 0N Le66
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Erfefaa dyelad @i 8 @ ST TS Tonseid 3R SwIes 3R

TG & ?
(A)  ITEH (B) S
() AREr DI
105. One of the teaching maxims of inductive method is
(A} from general to specific (B) from part to whole
(C) f{rom rule to example (D) from known to unknown

e fafy &1 v e 59 R

A) O g fafre w5 aR o« (B) G R AR

C) T W|E E AT . (D) W Y HEE B AN
106. The main cumin producing districts of Rajasthan are

(A) Baran, Chittorgarh, Jhalawar

(B) Alwar, Jaipur, Nagaur

(C) Sri Ganganagar, Hanumangarh, Bikaner

(D) Jalore, Jodhpur, Barmer

TRl H ST % UgE IEEE A €

(B) AR, AR, AR

(C) &7 TR, EGCIGOES CIEALTY
(D) S, S, ATER

107. Which of the following cell organelles has forming face and maturation fuce ?
(A) Mitochondria (B) Golgi body '
(C) Lysosome (D] Plasud
Frafotad o @ BA-8 FIOET 5 SE99 el o RIS dd 98 Sd € 7

(A) I““«’E. & i'\:e_q‘ (B) IH”&WEI EaE

(€} TRArEH D) Tgd

:08. The number of molar teeth present in upper jaw of an adult man is
(A) two (B} four
(C) six {Dj eight
T TS % FO TaT O T9ead 9AvE A B 9 gl €
(A) g ® %
(Cy @ {D} #HiS

109. Out of the following which comes under 'product of science’ ?
(A)  Scientific attitude B) Formulation of hypothesis
(C} Scientific laws (D} Expernimentation -

: g
. zo=wn  THEBTIEL S  RAA
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S, AR & I, % IR AE
= LI LY ! ' _

- - L - —
T e T R,

S, B e

[C)  IEF® gy Dy T T e

A0 In scolenae teaching, which type of learning should be plaanced after g rIosting

the Icarning difficulties of the students ?

(A)  Team teaching (B) Remedial teaching
(C) Micro-teaching (D) Diagnostic teaching

T ST SR FleAEd & e & ST T fvaor 6, e gmr e
! AT & A GRS 2

(A) . To fereqor | B) IS Tan
(C) & Toreroy | (D). TREETE feeqor
111. The site of fertilization in human female is
(A}  Vagina (B) Uterus
(C) Fallopian tube (D) Ovary
1T " 1 e e €
(A) =it
(B) 99 ' - .
(C) g wieT (FefE) Ao ¢
(D} SAvERE —— _
I12. Most common mode of asexual reproduction in Hydra is
(A)  Sporulation (B) Binary fission .
(C}  Multiple fission (D}  Budding
81351 1 WHFIAAT STl 579 %1 JhK &
(A) TV . (B) Tg-Ta@ves 3%&/
© Sghevem < o) ged
I'13. The term 'Hot spot' was given by
(A)  Ernst Haeckel (B) A. G. Tansley
(C)  Walter G. Rosen (D)  Norman Mycrs
o e v fear e
(A) IR e (B) U L ZAT
(C) ™o L TET A (D) AT TERE A |
114. Which of the following techniques is most suitable for the disposal of biomedical
waste ?
(A}  Land fill (B) Incineration
(C)  Recycling (D) Disposal’in water
- e e
68579 {IIAMImE 666
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e~ ~_r = * by —— -
MEfeEd B " wE-E Feaw w9

ITIF ¢ 7

49

L]

7 fofeedy o % fRanwr &g weibE

(A} T WE (B)  HER
(C) TrEET D) e J =
115, Which of the foliowing is known as '‘Birdman of India’ ?
' (A) Salim Ali (B) A. P. J. Abdul Kalam
(C)  Homi Jenargx Bhabha (D) C. V. Raman
EiEa B @ e SEE ¥ SR % 89§ S 9§ 0
(A welw FE k/’ B) U . . e ey,
(C) &I TR S (D) AL T
116. Fusec wire works on the basis of .
(A}  magnetic effect of current  (B) chemical effect of current
(C) thermal effect of current (D) clectromagnetic induction
HF AR FE SNR W EE w5, TR
(A} U T gEES TS (B) YR W TEENF T
(C) YR FEIIEE ~—" (D) fergger gmraRra UToT
117. The escape velocity for any object on the Earth is
(A)  12-1 km/hour (B) 12-1 km/sec
(C) 112 km/hour (D) 11-2 km/sec
U‘?ﬁT W R 9 &1 TEEA T &
(Ay 121 ECitrgiors (B) 12°1 TheAHeR /9Fg
) 112 ca>Ta D) 11-2 el /96T
118. A device used to store documents or pictures available on any paper into digital
memory of computer is
(A}  OMR 8j Scanner
(C) Plotter (D} MICR
&I U7 3T c;lm;-::!:-. 35E THE = :r.:i-f-i':‘.{ EHT fgﬁ-""f?.ﬂ w T WTF%';T ETCE:D f?'"frf
(A) 3T U AT (OMR) B &
() wRI D TH A Al AT (MICR) &~
119. Sbis the symbol for the element
(A)  antimony Bl selenium
(C}]  strontium (i ¥]] tin
shFEYTTHIHAF £ 7
(A)  wEwE @ Sy
© it m =
e . -
68579 [T T [666 | P.T.0.
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120. Compound among the following is

(A) diamond (B) graphite
(C)  ozone (D) water
rﬂr ~ e~ ﬁ' :éf e %
(A) &R (B) TUFE o<
(C) A (D) S
121. Which of the following fcatures of mathematics makes il a global subjcet ?
(A)  Language complexity (B) Brevity of language
(C) * Uniformity of language (D) All of these
Mot i FeAfAfEd 4 @ we-d e 39 o dtaes v 5 ¢ ?
(A} ST & Sifedar (B)  HIST @] Hiefeqdl &
(C)  WIST &l THETA! (D) THE T o

122. Through mathematics teaching, children develop skills to control which of the
following emotions ? _
(A)  Logic (B)  Sclf-confidence
(C)  Thinking power (D) All of these
T RGO % WreAs § aen 4 v 6§ S0 WEA WS ey
Terhlaa &1 ST & 2
@ TS (B)  STCH-fr
() Toar-wfe D) FTEI N

123. What is thc method of mathematics tcaching in which the move is from
unknown to known and in which the tendency to search is encouraged ?

(A)  Synthetic method (B)  Analytic mcthod
(C}  Project method (D) Laboratory method
ot e &t SE-d fafa & e e @ wa S 9 Ter ¥ 9 Brad e s

(A)  Gyersor fafy B) fovemur farg
(C) Ui fafy (D) AT fafy

. |The community objective of defining mathematical terms is
(A}  Cognitive (B) Emotional
(C)  Practical o/ (D) Functional
T wei w1 uitaiyd a1 anEtaE v ¥
(A)  HIAATTF (B) 9gH

© = (D) T
ses7o  [IINIMIEN
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125, ... is necessary to find out mathematical errors in children.
(A} Remedial test (B) Diagnostic test
(C} Oral test (D) Nature test
A 1 TS Fi2at F 961 o0 % [0 STavgsE §
(A)  STEEET SR (B]  RIHe Teor —
(€ TEE wEm (D) - U W,

126. Denominater of a rational number exceeds its numerator by 8. If 17 is added to
the numerator and 1 is subtracted from denominator we get the rational

number é, then the rational number is

2
.13 21
A 57 (B) 13

13 7
© = O =
tﬁfmm:ﬂa—?amwﬁaaﬁa?%wﬁmﬂnvﬁsﬁwaﬁtmﬁ@

1 ¥ H 97

u?@qﬁ'@r%ma‘mﬁ%,mqﬁﬁam%

i £ ' 2
\/“]/ 21 (B) 13
13 .
(C) = 7 (D) 13 '
127, The smallest square number which is divided by each of the numbers
7,14 and 21 1s '
(A) - 98 (B) 1764
(C) 394 (D) 2056 _
B2 ¥ B &7 g W 9 . 7, 14 3R .ﬁﬁqﬁgﬁﬁﬂﬁaﬁﬁ%&%
(A) 98 L7649 5
(C) _394 D) 2056
/W:'}:CMKJ . i R &
128. The val&€ of 5 = +"‘in‘000343; is
: R _.
J(D-OOOQIB, |
(A 10 Bl 001
(C) 01 D 20
1 .

0-00021

r———

+3(0-000383) W= ¢

A

(A) 10 A8 001
(C) 01 M 20
68579 N AN I [666 ]
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Shankar took a loan of Rs. 25,000 for purchasing a machine. How much amount
will he repay after 1 year 6 months at annual rate of 12%, when interest is
accumulated annually ?

(A) Rs. 25,850 [B] Rs. 27,680

(C) Rs. 30,000 (D) Rs.29,680 ,

¥Rt WM =S o ey 25,000 Fo FOT W1 &1 TF 1 AW 6 T AE 129 F6H &I
§ faeT ue ST et S At At g g 2

(A) 25.850%0 (B) 27,680 %o

(€} ..30,000 B0 . (D) 29,680%0_~

Rajan purc}iascd two ceiling fans at the rate Rs. 2,500 each. Out of which one
fan was sold at 15% profit and other was sold at 8% loss. How much proﬁt or
loss percentage is obtained in the whole transaction ?

(A)  3-5% loss (B) 7 % profit
(C) 35 % profit (D) 15 % loss

Wmﬁawgsooﬁoﬁmaﬁﬁvaﬂmm@@wﬁ 15% oY 31

a;e%aﬂaﬂxgmﬂmtwmﬂﬁﬂ#wmmmg?
(A)  3:5%@H - (B) 7 % —

(C) 35 % oY (D) 1-5% &

A tank of 30 metre long, 20 metre wide and 12 metre deep is dug in a
rectangular field of length 588 metre and breadth 50 metre. The earth sand so
dug out is spread evenly on the remaining part of the ﬁeld The height of the %eld
raised by it is’ _

(A) 25 metre _ (B) 2:5cm

" (©)  2-5 metre (D) 25cm

588 e T AR 50 HiX IS T HFARPR B H Th 30 HIX &, Qomiﬁml
g 12wwm?§mw%:ww@f{aﬂmﬁwﬁq@mﬁaﬁéﬁé
mmﬁwwwﬁmﬁmwélwﬁ@ﬁaﬁaﬁ@mﬁﬁ /

@) 25 e : B 25w

(C) 2-5HX (D) 25 @H

Dimensions of a cuboid are 60 cm x 54 cm x 30 cm. How many cubes of side
-6 cm can be placed in the cuboid ?

,\”M) 360 | (B) 2700
~C)/ 450 - (D) 300

HE
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qa:umﬁﬁﬁmﬁﬁéﬁix/sﬂﬁ%x/gﬁ%mwéwsﬂﬁﬁw#
T e 59 1S © - a

(A) 360 - (B) 2700 -

(C) 450 (D} 300

133. For the following frequency table, the number of persons whose weights are less
than 60 kg is

Weight (kg) 40-45 | 45-50 50-55 | 55-60 60-65 65-70

Number of 4 5 10 7 6 8
persons
A) 26 o ' (B) 21
(€C) 29 (D) 32

ﬁaﬁ@wwﬁ%?ﬁq 60 foham @ w1 o % wafiral W e

gR (%T’JT) 40-45 45-30 20-55 95-60 60-65 _ 65-70

fhal w = 4 5 10 7 6 8
] 26 B) 21
(C)” 29 S (D) 32

134. Following pie chart represents expenses on different items in construction of a
room. If total expenses in construction of the room are Rs. 2,00,000, then how
much money was expended on labour ?

Cement
fron 72° /' Bricks
M - o
54
L/
Others 108" | bour
(A) Rs. 10,000 @ Rs. 50,000
(C) Rs. 60,000 M Rs. 40,000
68579 [N | P.T.O.
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Pt g o o e % Fror e il & w9 e §1 A R P
F 2,00,000 Fo T & T TG W b $99 =77 5 7 2

di
N 720/ E
30 54°
L/
o 108° 3
(A) 10,000 To ' (B) 50,000 Fo"
(C) 60,000 o (D) 40,000 To

135. A bag contains 15 red balls and some green balls. If the probability of drawing a

green ball is l, then the number of green balls is

6
(A) 5 (B) 4
(c) 3 . (D) 2
TF 9 H 15 @ IS 3R $9 & 78 &1 3w & g e i miEsa é &,
. &l el @ e ¥
(&) 5 B) 4
5 3 . (D) 2
: -5 cl2
136. The value of E(l]—-—"-%— is
625x6™5
(A) 25 @B 5
ey 125 (D} 625
-5 12
BO°x5? o
625%x 6>
(A) 25 B 5
(C) 125 - D) 625
137, If (e)t2*+1 +216=36 then the value of x is
A 1 . B) 2
€ O ' (Dy 05
A% (6)2%+1) +216=36 TF x HT A &
(A) 1 (B) 2
(C) o0 o) 05
eas7o  |NHIMIAANN ~ [ees
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138. By subtracting - 5x< - Ty - 4xy from 3xy+2y?-2x2 we get the expression
(A)  7xy-35y2+3x? B)  —7xy+7y? ~3x2
AT Txy+ 7y +3xt (D) xy-9y? -7x?2
3vy+2yl-2x? TH - 5x? +7y? - 4xy i HZH T T 5‘4%%’
(A)  Txy-5y°-3x? (B) ~Txy +Ty” - 3x2
(C)  7Txu+ Ty'e -3x° (D) Xy - Qyg - 7x2
139. Factors of expression Ga< - Sap - 40p2 are Vi
(A)  (3a+5b)(3a-3b) (B) (3a+5b)(3a-8b)
(C)  (3a-5&)(3z-38b) (D) (3a+8b) (3a-8h)
FTH 9a? - 9gb - 20b? F TEIETS §
(A)  (3a+5b)(3a-3b) (B] (3a+5b} (3a-8h)
(C) (3a-5b)(3a-8s) (D) (3a+8b) (3a - 8b)
140. The value of (x% +7x 10121 x=2] is
(A} (x+1) Bl (x+3)
(C) (x+2) (D) (x+5)
(x?+7x+10)+(x+2 BT E
(A} (x+1) Bl (x+3)
<y {(x+2) Dj (x+35)
141. In SI unit system. pascal 1s the uni: of
(A) pressure (B} work
(C} -energy (D power

- -

Hodd '-’;', = =iFm Ug T Z 9 Tmas TIEh g‘ :}

A TE o e ®
C) F= D wIf |
142. Method of heat transfer, by whach heat emitted by the Sun reaches the Earth is
"~ (A) comwection (85 conduction '
(C) radiation Dy convection and conduction both
FE =0T # ”Itn_i:i farg ZT"-'-;T:%' I ET T 35-’-3“ RED qg"acﬁ g2
(A} HEET & T
(CERCicTe)| " @ . T 2R e Tl

143. An object is placed betwesn two plame mirrors which are kept at 60° with cach
other. The number of images formed will be

Ay 3 I
. © s | - S | -
68579 | HIENTHMAN [666] ~ PTO.
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WHGO“%WWT@QTWW%”WWER@iGi%Iﬂdd qmmﬁf‘m
@ W R

AA) 3 (B) 4
€ 5 Dy 7
144. Loudness of sound is determined by ............ ..... of sound.
(A) amplitude (B) frequency
(C} pitch | (D) time period
e e s F/F o, gr7 e &t e &
Ay AT By AN -
(€ daRem (D) 3T e
145. When an object is placed in front of a concave mirror at its centre of curvature

‘the image formed will be

(A) real, inverted and smaller than object

(B) real, inverted and equal to the size of object

(C)  virtual, erect and smaller than object

(D} .virtual, erect and equal to the size of object :

59 @Al A% H HIAS! SUV F GHET I SIhell ek W @I AT §, Al w1 whcfene
g

(A)  FRKIES, Il HR v B

(B) aRdla®, 3FeT R 9 F 9% & S .
(C)  &RA, AT 3R T T /

(D)  3TITEY, Tl AR =% & g & SR

146. The disease caused by virus is
(A)  Typhoid (B) Malaria
(C) Rabies (D) Diarrhoea
T ST I §
(A)  ZEETEE B)  Hekar v
(C) @ - D) T&E A
147. Ycast ( Khameer ) is an example of
(A) Bacteria (B) Fungi
(C) Virus (D) Algae
MR (3HI) U FFRI E
(A)  FE] 4 (B) Has H
(Cy T (D) . ¥ &
. e T !
68579 | ikl LN 666
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Which of the following is a cold habitat plant ?

(A) Hydrilla . (E3) Bamboo _
(C) Opuntia ' (D) Soldanella
fretafeg 0 @ w99 via @ F ORI E 7

(A) EEgEn B) &

(©)  FETEAT (D) B

. Match the following :

1. Tuberculosis a. Salmonella typhi
2. Typhoid ~b.  Varicella zoster
3. Whooping cough c¢. Bordetella pertusis
4. Chicken pox d.  Mycobacterium tubcrculosis
The correct answer is - '
1 2 3 4
(A) a  a b c
(B) d b c a
H{C) d a c b
(D2) a b c od
frrafeafga @1 @& e iy -
1. &3 I a.  IEHIFEN T
2. ZAEEE b, ORI SR
3. FHEg A c. @EZen wghad
4. O 9@l d. HIEREEEIRET SR~
T ITW @ |
1 2 3 4
Ay do a . b c-
B d b ¢ ad> -
() d a . ¢ b_‘-’/
D) a b ¢ d X
. Which is the largest gland of human body ?
(A)  Liver (B) Pancreas
(C) Adrenal (D) Thymus
THE IR ) Gay 99 uf - e 2
(A FFA - L) R
() HugEn (D) HEEd
79 [HRITNNEAN P.T.0.
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SECTION - IV(b} / WY - IV(b)
SOCIAL STUDIES / QHIN® 2109+

There are 60 questions in all in this section. The candidates who have selecied this
subject must answer all the questions.

39U T %l 60 W €1 o snaleEl 3 Tg faww w1 ums fRar ¥ 3% W o wo

r r =
AR g |

91,

93

The question-answer technique can be quite effective in teaching social science
as it ensures -

(A)  students’ ;-{bilily to respond better in examinations

(B} students come to class well-prepared

(C)  active participation by learners

{12) - a more disciplined classroom

e -

AT bl Wi fase % fonemor F ww) vl @ awd @ e e e

“edl 8 T

() Teenfert @ wien § e wegw 23 #Y e
(3) Tl s 1 TSt AR % WY T &

() TeremEAT g wiea wnier
J

(D) U e FTenad wefee

The word ‘Assurance’ is used for

(A) Life Insurance (B) Fire Insurance

(C}]  Marine Insurance (D}  Medical Insurance
"UYHIGH' Y T HENT g & .

(A} STiEd i & ferd B) 3fq dir & fed

(C)  |WE A % o (D) Tafeear s & o
Which of the following scttles the consumer disputes at district level ?
(A}  Sessions Court | (B) . District Court

(C}  District Forum (D}  District Collector
FieiEd | 4 el TR W 3wl et w1 feern w9 w0
(A) TF Ay B) e =mer

(©) AT wm - (D) e

Central bank of our country is

(A} State Bank of India (B}  Reserve Bank of India
(C)  Central Bank of India (D) Bank of Baroda

T 291 T T o ¥

(A) YA W d9F ' (B) WA fsid g

(€)  Hed o 3 gfigar (D) & 3% Tgrel

oss7a | HITNIEN -
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'he headquarters of Rajasthan State Cooperative Bank is located at

A)  Jodhpur . . (B) Jaipur
iC) Ajmer (D) Kota
(ST T FEhR b o7 Remers fom &

(A)  STEgY | (B) AR

[C) aET (D) wRIET

'City of hundred islands’ is located in which district of Rajasthan ?
[A) Dungarpur (B) Udaipur
(C} Pratapgarh (D) Banswara
magaﬁmm? T & e ot o R & 2

A $RR (B) ITAR

C) WA - (D) sigareE

Which of the following tribes of Rajasthan has been included in the list of
srimitive tribal group by Government of India ?

A} Bhil (B) . Saharia

C) Garasia (D}  Mecna

I &t = F § -1 STIer W RA WXhR GRI JMEH Feilid T8 @l G
1 ¥nieet fomar T ® 2

A) e - (B) WERam

C) TRIEET (D) - o

'he largest sweet water lake in Rajasthan is

A)  Jaisamand . (B) Rajsamand
C) Kayalana (D) Silised
TR H IS u e agt el @

A) - WHEHT ' (B US8H<

C)  FEAET (D) Toelide
‘ajasthan is the largest producer state of which of the following crops in India ?
A} Maize - | (B) Groundnut
C) Mustard (D}  Cotton

FTEfH AR | 91 § § S9-91 w86 %1 daids 30ge 7o & 7

\) TR | - (B)  HTEeR

0) (D) U _

/hich is the best means of explaining the shape of the earth in a classroom ?
i)  Globe | | " (B) Map

’) Diagram (D} Chart

1eAT9 el | el St 3N ol GHeTH &1 GO9S e =T E )

) Tl | (B) TR

) e (D). = '

L ~ pTO.
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101. Which states’ army did Doongji and Jawaharji fight against ?

(A)  Bikaner and Jodhpur (B) Bharatpur and 'Jocihpur
(C} Bharatpur and Bikaner (D)  Udaipur and Banswara
WﬂdWQWWWWﬁmWW ?

(A} EFEHR T ?ﬂ‘q‘f{ . (B) WERH W@?

(C) WA F HHFR (D) IR/IR F aigare

102. Who of the following revolutionaries assumed the pseudo name ‘Amardas
Vairagi’ to avoid arrest ?

(A)  Arjunlal Sethi ()  Pratap Singh Barhath
(C)  Kesari Singh Barhath (D) Jorawar Singh Barhath
WHHTWWWH?W?WEHW HREE AR FH B AW G
ferar 2
(A) T [ (B) waufae aREs
(€). Had &g arEs (D) EER'IE]TI e anes

103. Which revolutionary of Rajasthan was imprisoned in Tihar Jail ?
(A} Arjunlal Sethi (B)  Gopal Singh Kharwa
(C})  Kesari Singh Barhath {D}  Pratap Singh Barhath
Wﬂ@m“wmmmmfﬂ?muwwm? |
(A) AT T3l (B) TS ¥ @l

(C)  FHE g anEs (D) WA TREs
104. Who among the following were in the Chandaval Squad of Maharana Pratap in
the Battle of Haldighati ?

1. Purohit Gopinath 2. Rana Punja

3. Jaimal Mehta 4, Hakim Khan

5. Charan Jaisa 6. Krishnadas Chundawat
(A} 1,2,3,4 (B} 2,3,4,5
(C) 2,3,5,6 D) 1,2,3,5

friferfiaga :Jﬁmmﬁmﬁ%qmﬁﬂam VAT % wereet ze 1 wifier o )

1. qifed AidEmE 2. O g

3. EYS Hedl . 4, FHITE

5. AR ST 6. FIEH GEME
(A) 1,2,3,4 . . (B) 2,3,4,5
(C) 2,3,5.6 D) 1,2,3.5

105. Which of the following Chhatris is considered as the largest Chhatri of
Shckhawati ?
(A)  Chhatri of Ramgopal Poddar (B) Chhatri of Kalyan Singh

(€} Chhatri of Hardayal Singh (D) Chhatri of Gopal Singh
68579 [N L666
¢
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Frefefiad o O g sad = vEee % 9a9) 98 Sad) 99T 6T e 2

(A)  THGE GIEER SR (B) el fig &t ool

() BRI [GE w9 (D) T & =i SRl

The principle of curriculum which emphasizes on ‘learning by doing’, is
(A)  Principle of motivation (B) Principle of broadness

(C}  Principle of activity | - (D} Principle of utility. |
gieHsEHT % g fHara O e e’ W oae 5 S 2, 9% &

(A) AR = fasra (B) TATUSHAT T THGTT

() Trar &1 fasra (D) U &1 g

The direction of trade winds in northern hemisphere is

(A) North East to South West (B)] South West to North East
(C) South East to North West (D) North West to South East
(A) I 9@ 4 shor ufvem B) SR avem | I 9@
() s gg § s ufvan (D) 3R uftem | hor @@
The maximum distance between the sun and the earth is called

(A)  Perihelion {B) Perigee

(C) "Aphelion (D) Apogee

g ud gl % e atfyean g seemr §

(A)  STER (B) U

(C) HIER (D) 3T

In a food chain a ‘rat’ comes under the category of

(A) primary consumer (B} secondary consumer

(C) tertiary consumer - (D) | producer

TR e o gpr fag o o aean €, aw ¥ -

(A) TR ST B) fadrme Iqei

(C) TAEE IUHHI (D) SRS

Which of the following statements is correct ?
{A) The direction of the wind in a cyclone in the northern hemisphere is
clockwise _ '
(B} The direction of the wind in a cyclone in the southern hemisphere is
" anticlockwise ' | '

(C) The direction of winds in cyclones on the earth’s surface is both clockwise
and anticlockwise

(D) The direction of winds in cyclones on the earth’s surface is only
anticlockwise

7o [WRIAEN | - bT0.
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fAart 7 & F-91 o g E ? -
(A)  FRI TeIrE T AR 1 use ) e ugl @ g W e | g &
@) sl Tensg ® aswer o gae @ e wgh @ g @ e & fauda e §
(©) gﬁaﬁwmwﬁﬁmaﬁﬁwa@aﬁﬂ%aﬁﬁwwmﬁﬁiﬁaﬁ
feem o foradia, ST & feemeti & et &
() g ) wE AT § G ) e e uE W g e & e @
Biell & " o
I'11. How many members are nominated by the Governor in the State Legislative
- Council ?
(A) 1/3 By 1712
< 179 D) 1/6
-mﬁmmﬁwmﬁ:ﬁﬁmﬂmmsm% ?
(A)  1/3 By 1/12 .
() 1/9 . D) 1/6
112, The first Deput:y Speaker of the first Lok Sabha in independent India, was
(A)  Sardar Hukum Singh (B} S. V. Krishnamoorthy Rao
(C}]  Anant Shyanam Ayyangar (D) G.G. Swell
A W @) UEE! olich T o WU Iqreae o
(A) UER gFH a7 (B) UH. T, FOMLA @
(C) 3 YIEAH 3R (D) . S @
113. Who is the in-charge of the Voter Register’ at polling station during polhng in
India ?
(A} The first Polling Officer (B}  The second Polling Officer
(C)  The third Polling Officer (D) The Presiding Officer
AR H 2R % AR HaRH ey W CHAET T’ F U S 2 v
(A} U TagH SR B) fdg geEm afuwmrd
Q) gOE maEE S | D) derEE s
114. In which form of the Government the executive is responsible to the legislature ? ,
{A) Parhamentary Government (B) Presidential Government
(C)  Totalitarian Government (D) Military rule
o wIre Wit | e foufaet & ufa swer e & 2
(A)  HEEg WER (B) 31emeily W
(C) FIMTYFERAE ATEHER | (D) e A
115. Which one of the following is an example of knowledge objective’ ?
(A}  Explain (B) Construct |
(@ Define (D)  Analyse
68579 [ HIBIIIITIN [666]
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H I W I T ITETE 7 |
P AT (B) T HIAT
TR & (D) Tawesor &
ational Voter Day’ is celebrated in India on

25th January (B) 25th March

?5&1 September (D) 25th November
UG HARTAr fRed’ 5 S ¢

25 e - (B) 25 HM™

25 faara | (D) 25 Heray
pllure and Irrigation’ are included in the list of the Constitution of India,

1is _

‘the Union list ) (B) the State list

the Concurrent list _ (D) residual subjects

&Hﬁuﬁaﬁmﬂﬁrﬁ ‘i ud faend’ st enfoer fean a1 8, o €
(B) T |

'HquT-ﬁ el (D) e fasg

L’ which Article of the Constltutlon of India, the Supreme Court has been

place as the ‘Court of Records’ ?
129 (B) 130
137 (D) 143 °
= % fRE TR & i Weied e &1 Afiiee =rerE’ 1 @ K
r 7
129 (B} 130 '
L 137 ‘ (D) 143 ~

Lr which Article of the Constitution of India, executive power of the union is

3

bd in the President 7 .

l 53 (B) 54 ' _ »
(D)

W%%ﬂaﬁ%mmﬁﬁwﬁmmﬁ%ﬁ

(B 54
55 (D) 56
pter 2A of Ré.jasﬂlan Panchayat Raj Act, 1994 provides the formation of
" Gram Panchayat (B) Panchayat Samiti
Zila Parishad (D) Gram Sabha
=T T Tt s, 1994% atearE 2 % ° fSrass 1eT & wgaE €, 9% €
(B) demad g

%"_"T qﬁq{ | . (D) OT EWT
10— 666
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121. What is the proposed National Assessment Centre named in the National
Education Policy, 2020 ?

(A)  DIKSHA (B) NIKHAR

(C) DISHA (D) PARAKH

Tt forer ifd, 2020 ° wEAITTE UL e S ) Fa7 419 fTm o ¢ 2
(a) g ®) FEr

(C) fewm : (D) WE

122, When was  the ‘CALP’ programme initiated in upper primary schools in
Rajasthan ?

(A} 2007-08 B) 2010-11
(C) 2015-16 (D)  2004-05
TSE H 359 Mt faamerdl § e (CALP) S T WS & 831 7
(A)  2007-08 (B) 2010-11
(C)  2015-16 (D) 2004-05

123. When was the ‘objective resolution’ accepted by the Constituent Assembly as
presented by Pt. Jawaharlal Nehru ?

(A) December 9, 1946 (B) December 13, 1946

(C} January 22, 1947 (D) January 26, 1947

4. SiaEEd 9eR R WA IR U’ w1 diade @ g e @ien [
Tar ?

(A) o fcErar, 1946 B) 13 &g, 1946

(C) 22 T, 1947 (D) 26 F&, 1947

124. The ‘Right to Education’ was made the part of which Fundamental Right by 86th
Constitution Amendment Act ?
(A} Right to Freedom . (B) Right to Equality
(C}  Cultural and Educational Rights (D) Right against Exploitation
86 a dfaum deiy sfufmm gro ‘foen & sfysr’ =1 & Hifors sifusr &

AT E ?
(A) TS ST HER (B) THIAT &1 AR
() Torenm ud G&pld & SR (D) YN & favg AUER
125. When was the ‘Protection of Children from Sexual Offences Act’ enacted in
[ndia ?
(A)  In 2010 (B) In 2012
(C) In2014 (D) In2016
GRA | @i TR | STeTehl T GV 1 Uiy’ wa A w2
(A) 2010 o (B) 2012
(C) 2014 (D) 2016

68579 |HIIIHIIN
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In which state Durgadas Rathore’s Chhatri is situated ?
(A} Rajasthan (B)  Uttar Pradesh
(C)  Madhya Pradesh (D} Gujarat
SR BT & Bl vy v T Rea & 2

(A) TS B IWORY

(C) T R (D) TN

[n which area did the Chawand painting style develop ?

(A) Mcwar . (B} Haroti

(C} Marwar {D) Shekhawati
[T Ferrener Pie i fommra fea e o gy 2

) T B) @

(C) HAREE (D) EEE

Smt. Kishori Devi was associated with which peasant movement ?
(A) Barar : (B) Sikar

(C) Bijolia (D) Bikaner

et foreiRt 3ot fora fomam anrsie @ weg @ 2

(A) Wg (B) Wiy

(C)  ferstiferar (D) &R

In which part of the body is the ornament ‘Bajatti’ worn ?
{A}  Nose (B) Teeth

([C}) Ear {D) Neck

TSl ArTeE YUl YR F TR Wi F gRor fear ST § 0
(A)  FATH (B) i@

)  wH (D) TIeT

Edward Thorndike ( 1898 ) is famous for which principle in Educational
Psvchology ? '

Al - Memory theory . (B) Forgetting theory

C} Léarning theory u (D) Adjusting theory

TZE AR (1898 ) Wl e welemE o e fagra & forw st s & 7

Ay a1 fagr - (B Tata w1 fagr

C)  "rEd & fagra (D) HEENH & [Ggr

¥hich of the following decades registered negative population growth in India ?
A) 1901 - 1911 (B) 1911 - 1921

C) 1921 - 1931 | (D) 1971 - 1981

I | | | PT.O.
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| R queh H ARG § AhRIeTe e ghg gt 7

(A) 1901 - 1911 (B) 1911 - 1921
(C) 1921 - 1931 (D) 1971 - 1981
132. Which of the following is the oldest iron and steel company in India ?
(A)  TISCO (B) HSCO
(C)  VISL _ (D)  SAIL
FTET 9 oA -3 SR SR H e e
(A)  TISCO (B) IISCO
(C) VISL (D)  SAIL

133. The correct order of location of given physiographic features from north to
south is

(A)  Tarai — Bhabar — Khadar — Delta

(B)  Tarai — Bhabar — Delta — Khadar

(C) Bhabar — Khadar — Delta — Tarai

(12} Bhabar — Tarai — Khadar — Delta

€1 TS - ATHiaE 1 I Y st fown o sty = wd w2
(A)  TE — WY — WY — e

(B) TRIE — 9T — B2l — @R

(C) HER — @EY — $oel — ade

(D) . YR — &1 — @Y — Toel

134, Which state is the largest producer of Gypsum in India ?

(A)  Rajasthan : (B} Gujarat
(C)  Jharkhand (D) Madhya Pradesh
e 4 gy &1 geifus IR O SE-UT § 2 '
(A) ST (B) U
(€) FWEE (D) T W
135. Zanskar river is used for irrigation and power generation in which region ?
(A)  Arunachal Pradesh (B) Sikkim
(C) Ladakh (D) Garhwal-Kumaon
st 51 w1 swan e ud e sare 3 fea vk § fea s g o
(A)  ITEUITEST TR B) fafdrm
(C) TR (D) TRAA-FHIS
136, When did Chauri-Chaura incident take place ?
(A} January, 1922 (B) February, 1922
(C)  November, 1922 (D) April, 1922
ossr9 | WHIMN
]
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A e v H R W AR e gty g s )
(A} 1901 - 1911 (B) 1911 - 1621
(C) 1921 - 1931 (D) 1971 - 1981
132, Which of the following is the oldest iron and steel company in India ?
(A} TISCO (B) 1ISCO
(C) VISL (D) SAIL
A - FE-3ea hREE YRA ¥ @i W 8 2
(A)  TISCO (B) 1ISCO
(C) VISL (D) SAIL

133 The correct order of location of given physiographic features from north to

south is

(A} Tarai — Bhabar — Khadar — Delta

(B)  Tarai — Bhabar — Delta — Khadar

(C}  Bhabar — Khadar — Delta — Tarai

(D) Bhabar — Tarai — Khadar — Delta

1 7% - Armmmﬂﬁwﬁwﬁm@%ﬁmﬂg
(A} g — R — @Y — o2

(B) TRIE — WA — 62T — @Y

(C) YEY — @Y — S0 — oW

(D) HER — T — TR — e

34, Which state is the largest prociuccr of Gypsum in India ?

(A} Rajasthan : (B) Gujarat
(C}  Jharkhand (D}  Madhya Pradesh
HRA H 5T 61 gl Icdg® U9 BI-T § 2
(A) O (B) A
(C) REE | (D) Tem uw
135, Zanskar river is used for irrigation and power generation in which region ?
(A)  Arunachal Pradesh (B) Sikkim
(C} Ladakh (D) Garhwal-Kumaon
R TJWWF&W@*@F&@W%@WW&WW% ?
(A)  STHUTEET YT B) fafgey
(C) ©ERg (D) TIG?-HW-?E‘TI&E
136. When did Chauri-Chaura incident take place ?
(A} January, 1922 (B) February, 1922
(C) November, 1922 (D)  April, 1922
68579 |V IAMA0E 666
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H-ART Bl HAT e g3 2
(A) SHeRY, 1922 (B), W{&dl, 1922
(C) AR, 1922 (D) e, 1922

Which ruler of Alwar appointed Pandit Harinarayan Sharma as his advisor ?

(A} Udai Singh . (B) Jai Singh

(C) Ram Singh (D} Man Singh
WﬁWWEﬁW%%mW#MWﬁWW ?

) 3eERE _ B) EtaE

) wmfag (D) HHiEE

bﬁ/ho said that ‘religion is the development of the divinity which is inherent in

buman beings, religion is neither in the books nor in religious principles’ ?
\A]  Raja Rammohan Roy (B) Swami Dayanand Saraswati
) Swami Vivekananda (D) Dadudayal

ﬁ%ﬂ?ﬁiﬂ%”ﬂﬂﬂﬁﬂ%‘ﬂﬁ?ﬁ%ﬁaﬁﬁaﬂm% g F o I A8
t\Tu + uiiges fggral 77 7 https://www.pyqonline.com
)

N T IR ™ C(B) I SFER WAl
0 el e (D) EREAR
fho is called the first poet of the deprived class of India ?
) Dadu ~(B) Jayanak

] Ramdas (D) Chokhamela

% e =it @ uee m%r ol a1 ST € 2

b arg (B) T

P - UHETd (D) @
‘hich ruler wrote a letter opposing Aurangzeb’s imposition of Jiziva tax ?
) Raj Singh | (B) Jaswant Singh

%1 Man Singh (D) ‘ Durgadas Rathore

A R SAET T e A W iR ImEes A 9 ferae) Ry feeer 2

EYEiEery “(B) wdad &g

BISIER ' | (D) FETH TEIE
Ell'_h of the following musical instruments is like a flute ?

Alagoja (B) Bhapang

Ravanhattha (D) Tandoora
foifia 3 @ @-E A 49 aEd S awE Sy 2

ST ' ‘ (B) W9

ST (D) YT

LT R P10
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' 142. Which one of the following pairs is correctly matched ?

143.

144,

Mahajanapada Town
(A} Gandhara Mathura
(B) Anga . ' - Ujjain '-
(C]  Avanti | Sotthavati
(D}  Kamboja Rajpur
. %ﬁﬁﬁﬁﬁﬁmmwmaﬁ@ﬁaﬁgﬁ
HETHATE ‘ R
(A) AR - AU
B) T | E il
() e | A
(D) @=L | TR
The Bhandadevara Temple is located in which district ?
(A} DBundi (B) Kota
(©) Baran (D) Jhalawar
wugEeRy A (e el 1 Raa g 2 -
Ay @ By F
() =W | (D) HAETE

Consider the following statements about Chandragupta Maurya :

1. He married the daughter of Selc_uctis '
2. He accepted Buddhism in‘_’the last period of his life
3. He made Ashoka his successor
Which of the statements given above is / are wrue ?
(A)  Only 1 (B) Only 2
(Cy 1,2 ) (D) 1,2,3
e H & A A eEa Al a R i
| 3EF GeuEmE B T 6 ard e
0. e e e % oifen e A dig e S T
3. S YT @0 AT TR A
TR Sl 4 G BT E T e 88 2 |
(A]  FE 1 (B FEE2
- 1,2 | o 1,2,3

sss7o (LML
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Consider the following statements about Ashoka’s inscriptions |

1. Most of the inscriptions are in Prakrit language
2. Most of the inscriptions are in the Brahmi script
Which of the statements given abn_a.'ve is / are true ?
(A}  Only 1 - (B)  Only 2
(C}  Both 1 and 2 (D)  None of these

39 & wAfAeral & o’ 0 Hefefaa wual ) fTer s
1. 3fiygeRter syl wrha e €
2. stusie e SEi fefy 7 €
Eﬂﬁwﬁﬁﬁﬁqwmwaﬁ%f% ?

(A)  FFe | (B) FI+ 2
) 1 3R 28 ‘ (D)  TH ¥ =g &
Which of the following Indus-Saraswati civilization sites are located in Pakistan ?
1. Mohenjodaro 2.  Harappa
3. Prabhas Patan 4. Alamgirpur
5.  Chanhudaro 6.  Kotdiji
(A) 1,3,56 _ B) 1,2,4,5
cy 1,2, (D) 1,2,3, 4
ﬁmﬁ%amgﬂmﬁwmﬁﬂaﬁqamﬁﬁ%a ?
1. HRASES _ 2. wgU
3. UH™ 9RA 4. HEATIR
5. WS | 6.  hiedr
(A} 1,3,5,6 B) 1,2,4,5
)y 1,2,5,6 : Dy 1,2,3, 4
The great mathematician Brahmagupta was born in which district of Rajasthan 2
iA)  Jalore {(B) Churu
(C) Sikar (D) Bikaner
HET, T SR 1 S TSI % (9 el ° ge ?
(A)  STER . B g9
() " - (D) =

Consider the following statements about the Vedic period :
1. Grihastha Ashram was the feeder of all other Ashrams

| 2. The village officer was called ‘Gramant’

3. The merchant class was called Vish”
Whlch of the statements given above is / are true ?
iA} Only 1 By 1,2
C) 1,3 (D) 1,2,3
|

ARV | ~ ®TO
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afess et % Ay § Feafafea Foe W far #f
1. TR IMHY Y WMt STt T Qi e
2. UM % MUERT w1 amyol’ HET S o
3. IR e T e wmer stEr o
I HoAl B d -/ T EE 0

(A] =T By 1,2
cy 1,3 (D) 1,2,3
149, Where was the branch of Ramsnehi sect established by Sant Dariyavji ?
(A)  Shahpura (B)  Sinhthal
(¢} Rain () Khedapa
T s §R e SweE @ e w6 i o) g
(A) PR B) e
( (D) T
150, Consider the following stalcments about Mahaveer Swami :
i. He was born in Lumbim
2 His childhood name was Vardhamana
3. His mother’s naﬁle was Mahamaya
4 He was the first Teerthankara of Jainism

Which of the statements given above is / are true ?
(A} Only 2 B} 2,3

) 1,2 D) 1,4

HEER % ar & Feataiag seEl w e #i
| 1. Il ST ST B g

% TEUT F A RO o

3. 39! I &1 A WERTE o

4. oS U & 9 a9

1

3ULh HuAl B ¥ F A/ e /8 0 | )

(A)  TEA 2 | B) 2,3

cy 1,2 o) 1,4 .
68579 | IMIIELEY
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